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Run 5573 quartetwise, asym0Osub: Beam ON
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Run 5573 quartetwise, negHO: Beam DIN

Positive Hel (ON): 13.823708 +/- 0.003139
Negative Hel (ON): 13.076320 +/- 0.002982
Positive Hel (OFF): 1.639424 +/- 0.001563
Negative Hel (OFF): 1.639504 +/- 0.001566
-------- Sums and Diffs

On Diff: 0.747388 +/- 0.001998

Off Diff: -0.000081 +/- 0.001972
On Sum: 26.900028 +/- 0.005787

Off Sum: 3.278928 +/- 0.002430
-------- Asymmetries
On Asym: 31.640694 +/- 0.084987 (ppt)
Off Asym: -0.003421 +/- -0.083473 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 23.621100 +/- 0.006277
BkSub Asym: 31.644115 +/- 0.119124 (ppt)
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Run 5573 quartetwise, posHO vs time
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Run 5573 quartetwise, asymQ0sub vs time
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Run 5573 quartetwise, negHO vs time
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Run 5573 quartetwise, bcm vs time
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